5.1

51

(Perl)

newsgroups.xt
flow.txt

ngspoll.txt

(UNIX)



5.1 ()

sumixt

knaptenp.txt

selectng.tt

news.natice

event.td

flow.daily.txt

5.2

al

25



searchngs.pl

votengsO0.pl

newsgroup.txt /

search
——browse—»{ votengs1.pl
Users ngspoll.txt
51
521
52
searchngs.pl
1

(Logical Operation-AND OR)

(Case sensitive case insensitive)

26



'«-No

Start

put keywords,
logical operator,
case sensitive

Y

Read
newsgroups.ixt

Yes

Yes

case sensitive ?

case insensitive ?

Yes

Yes

keyword
not matches

ng?

No
h 4

$include = "yes"

27

Yes—¥|

$include = "no"

$include = "yes"
|

Yes—p

$include ="no"

Y

case sensitive ?

No

case insensitive ?

No

Yes

keyword
matches
ng ?

No
¥

$include = "no"

Yes -

Sinclude = "yes"

v

$include = "no"

Yes—p

$include = "yes"

\ i

A

Yes«q/ Print ngname

End



5.2.2

(Check box)

votengsOpl
votengsl.pl
votengsOpl votengsl.pl
votengsOpl
vatengsOp votengsl.pl
(require_ng)

votengsl.pl

28



53

1 Start )

4

Input
require newsgroups

y

Read
ngspoll.txt

Yes

v

ng_count = ng_count + 1

<
<

N \EOF?/

Yes

|

Write to ngspoll.txt

End

53
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54

mg usage.pl

news.notice

knaptemp.txt
News Administrator
\ Y
I e knapsack.pl
SEIECTNY. IXT
outgraph.pl
54
53.1
usage.pl

news.notice nnpd



usage.pl

news.natice

this line
have "nnrpd"
word ?

No———»;

Yes

this line
have “group”
word ?

No————»

Yes

v

find newsgroup name

ngname = "newsgroup name"
usage_count = usage_count+1

No

Yes

Write
ngname, usage_count
to usage.txt

End

55



5.3.2

merge.pl
1
2
3
Start
Read

ngspoll.txt, usage.txt

poll_ngname
match
sage_ngname

No

poll_ngname
not match
sage_ngname

No

usagel_ngname
not match
poll_ngname ?

No

EOF ?

Yes

5.6

table format:
ngname poll_count usage_count

table format :
ngname poll_count 0

A 4

table format :
ngname 0 usage_count

Y

32



——No

~

Write table to
temp.txt

Y

Read flow.txt

ow_ngname
not match
ngname ?

No

EOF ? <

table format:
ngname poll_count usage_count flow_size

table format:
ngname poll_count usage_count 0

Yes

v
5

Write table to
sum.txt

4
( End

56

533

()

33



5.7

(total_bandwicith)
Start
Input /
req_bandwid th,
total_bandwidth

req_bandwidth
>

otal_bandwidth

No
v

V = req_bandwidth

p = 2poll_count + usage_count
w = flow_size

Sorty

!

Write p,w by y
to knaptemp.txt

execute
knapsack.pl

(req_bandwidth)

34



35

fl

. P p = 2poll_count + usage_count
d P
. P

P1/W1 >=P2/ 2 >= P3/ 4 .. >= Pn/Wn

. knapsack p

5.34

] Maciej M. Syslo, Nargingh Deo Janusz . Kowalik (Syslo, Deo,
et a 1933)

X1 00



36

knapsack pl

2
( Start )
Read
knaptemp.txt

I

pp=0,ww=0
r=1

<

ww = ww + wir]

ww +w(r] < v? >—Yesp o r=r+1

pp=pp + plr]
No
4
WW = V- Ww
V=0, fit =0 X =1
Yes+ i’iril Yes»  profit = profit + pfi]
i-i+1
No
v
i=it 1
w[0] = 1,p[0] =p[1]
< 1
=WW, q=PP ' vest X[|]=0
100

optsol = true

AUGMENTA, r-1)
r

Write to

first lower bound selectng.txt

Ib =qq

*

Execute
outgraph.pl

5.8



\/
l

Ib=qq

wWwWwW = -ww
PPP = pp
wr{r-1] = -ww
prir-1] = pp
\ 4
i=r
<
]
www=waw el | wii] = www s
o Yes™ b = ppp + pli] " pdil=ppp e
No
\ 4
www = ww + wr-1]
pPP = pp - pr-1]
i=i+1
i=r-2
L
|
www = www + wii] wr{i] = www izi-1
0 Yes™  opp = ppp + pli] *|  edil=ppp g e
No
A 4
i=1, j=-1
b = true
|
300
i<=n? Yes No—p do > s=s-1
uB1(i)
Yes
Y
No 200
do
UBO(i)
12
Y
yy = (v'p[s+2)/w[s+2])
y = sprintf("%d",yy)
2z = ((p[s+1]-(w[s+1]
-wW))*(p[sywis])
z = sprintf("%d",zz)
No» ubfi+j]j=q+y @ Yes-»
K
Yes
h 4
Y=z
Yes
A 4
- b=false, j=0
L wifr=1] = ww + wir-1]
= wrlr] = ww

&




i=1
Le—
]
Yesp x{i] = -1 > i=i+1
No
\ 4
i=1
e
j=j+1
Yes Yes» =1
No l
No v=v-wi]
l profit = profit + p[i]
= }
i=i+1
8 i1=0
Yes Yes- i=j+1
i=i+1
! =0
< ) A>—Yes-><*Aub[i] <Ib”)>"Yes> N
~ —
0 L r
: 2 = i=i+1

i=(-1)? optsol =tme
No
Write to
optsol =false selectng.txt
ww =0 -
i=1
T e Eo= =a=
‘—Yes Yes-»| ww=ww + wii]
No No l

e

i=i+1

Yes»{  optsol = true

‘

No
Y

optsol = false

oo

5.8
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v=0
i=1
e ; Write to
il No selectng.txt
iy Execute
outgraph.pl
Yes» xi]=1
No
v
i=i+1
100

kk = argv{0] + 1
VW = wW
qq=q

»

Y

Yes

(vwv > = wikK])
&& (kk <> argv[1]?

vw = vV - WikkK]
qq =qq + p[kK]

No

kk =kk + 1

58
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i=argvl0], wi = w]i],
s=r-1,b=true

= s=s-1
((:b<= 33:;% No——»  w=wi-wis]
q = pris] - pli]
Yes 100
do
AUGMENT(i,s)
Yesp{ s=s+1 ‘
No
A 4
bb = false
kk = kk + 1 <
i = argv([0]
wi =w[i,s=r
Y
wrs] <wi ? Yes—p s=s-1
No
\ 4
s=s+1 22
A
vv = wrfs] - wi
q = pr(s] + pli]
100
do
AUGMENT(i,r)

28 ()
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535

10 alt, comp, humanities,
mise, news, rec, soc, sci, talk other
10

outgraph.pl



Read
selectng.txt

>

Find top
hierarchies

profit_hier = profit_hier + profit_ng
size_hier = size_hier + size_ng

i<=97? No

Yes
Y

dataset1[i] = profit_hier
dataset2[i] = size_hier

v

dataset3][i] = profit_ng
dataset4[i] = size_ng

v

i=i+1

v

Create pie graph

v

Write to
graphselect.htmi

5.9
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54

54.1
1
remind.pl T
l ﬂow.d?ly.txt
alarm.pl
addremind.pl <—?j1\§ /
.-’—\. ,
News Administrator I'_!
alarm.cnf
5.10 ,
54.2

remind pl

43



( Start )

Read /
selectng.txt /

-

Find top
hierarchies

4—No

profit_hier = profit_hier + profit_ng
size_hier = size_hier + size_ng

‘«—No

i<=97% No

Yes
Y

dataset1[i] = profit_hier
dataset2[i] = size_hier

v

dataset3[i] = profit_ng
dataset4[i] = size_ng

v

i=i+1

v

Create pie graph

!

Write to
graphselect.html

59
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Start )
Input /
day, month,
event,ngname
y
Read /
event.txt i/

Ll

b

0ld_month" match "mont
& "old_day" match "day" 2

No—;

Yes

"old_ngname"

match "ngname" ? No

Yes

"old_event"

match "event" ? No—

Yes
\ 4

Write

day,month,event,ngname ¢
to event.txt

End )

5.12
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54.4

alarmppl

Read /
alarm.cnf /

A

threshold = limited_size

A

Read
flow.daily.txt J/

-
Lt
b

4

<«—No

Yes

|
Mail to Administrator |

Yes

( 53 )

5.13
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